with(plots):
deqg: = di ff(y(x), x)+y(x)*I n(x)=x-1;

deq = % y(x) +y(x) In(x)=x—1
awl : = {deq,y(1l/3)=2};
awl = {%y(x) +y(x) In(x) =x — l,y(%) :2}
aw2 : = {deq, y(1/3)=1/4};
aw?2 = {%y(x) +y(x) In(x) =x — l,y(%) =%}

sol y1: =dsol ve(awl) ;
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sol y2: =dsol ve(aw2) ;
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soly2 =y(x) = J zIF e (zI—1)d zI + 1| Te'
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y1l:=rhs(solyl);
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y2: =rhs(soly2);
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gl:=plot([yl,y2],x=1/3..4);
gl =PLOT(...)

v:=[1,-y*I n(x)+x-1];
vi=[1, -yln(x) +x—1]

g2: =fieldplot(v,x=1/3..4,y=0..3),;
g2:=PLOT(...)

di splay({gl, g2});
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